ggd

0o g 0o 0o oooooogo
1 — 0ooQ E 641,025
2 | ooo E 421,245
3 [~ 0ooQ E 256,410
4 " 000 E 114,774
T5 [~ 0ooQ E 76,313
T5 [~ 0ooQ E 76,313
T7 — 0ooQ E 52,930
T7 — 0ooQ E 52,930
T7 — 0ooQ E 52,930
T7 — 0ooQ E 52,930
1 — 0ooQ E 42,857
12 — 0ooQ E 40,659

T13 [~ 0ooQ E 37,582

T13 [~ 0ooQ E 37,582

T13 [~ 0ooQ E 37,582

T13 [~ 0ooQ E 37,582

T13 [~ 0ooQ E 37,582

T18 [~ 0ooQ E 34,432

T18 [~ 0ooQ E 34,432

T18 [~ 00 E 34,432

T21 — 0ooQ E 30,769

T21 [~ 00052 E 30,769

T21 — 0ooQ E 30,769

T24 — 0ooQ E 26,007

T24 — 0ooQ E 26,007

T26 [~ 0ooQ E 22,527

T26 [~ 0ooQ E 22,527

T26 [~ 0ooQ E 22,527
29 [~ 0ooQ E 15,751
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goo

goo

goo

14,469
14,469
13,370

12,637
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